Algebra 1 Formative Assessment — Section 3-2 (8 points)

Date:

8lock:

Name: Kes%,

1) Express the relation {{~2, 5), (=1, 4), (3, 3), (2, 4}} as a table, as a graph, and as a mapping diagram.
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2) Give the domain and range of the relation.
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3) Give the domain and range of the relation. Tell
whether the relation is a function. Explain.
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 Algebra 1 Formative Assessment — Section 3-2 {8 points)

Name:

Date:

Block:

1) Express the relation {{-2, 5), (=1, 4), (1, 3), (2, 4)} as a table, as a graph, and as a mapping diagram.

2} Give the domain and range of the relation.
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3) Give the domain and range of the relation. Tell
whether the relation is a function. Explain.

“
-
Ny

,M oo kN




q
- Algebra 1 Formative Assessment — Section 3-4 ( points)

léﬁéw

' Name: Date: Biock:

1) Graph the function for the given domain. 2. Graph the function y = |x + 3|.
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2} he function y = 3x describes the distance (in inches) a giant tortoise walks in x seconds. Graph the function.
Use the graph to estimate how many mches the tortoise will walk in 5.5 seconds.
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. Algebra 1 Formative Assessment — Section 3-4 ( points)

Name:

Date:

Block:

1} Graph the function for the given domain.
Ix+y=4
D:{-1,0, 1, 2}

2. Graph the function y = |x + 3|.

2) The function y = 3x describes the distance {in inches) a giant tortoise walks in x seconds. Graph the function.
Use the graph to estimate how many inches the tortoise will walk in 5.5 seconds.
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Algebra 1 Formative Assessment — Section 3-6 { paints)

_Name: Date: Block:

1) Determine whether each sequence appears to be
an arithmetic sequence. If so, find the common
difference and the next three terms in the sequence.
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2) Find the indicated term of each arithmetic
sequence.

23rd term: —4, =7, -10, 13, ...
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2) Find the indicated term of each arithmetic
seguence.
34thterm:a;=3.2,d=256
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3) On day 1, Zelle has knitted 61 rows of a scarf. Each
day she adds 17 more rows. How many rows total has
Zelle knitted on day 167
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L Algebra 1 Formative Assessment — Section 3-6 { points)

Name;:

Date:

Block:

1) Determine whether each sequence appears to be
an arithmetic sequence. If so, find the common
difference and the next three terms in the sequence.
a) 3,9, 27, 81,... b) 5, 6.5, 8, 9.5,...

2) Find the indicated term of each arithmetic
sequence. :
23rd term: -4, -—7 ~10, 13

2) Find the indicated term of each arithmetic
sequence. _
34th term: g1=3.2,d=2.6

3} On day 1, Zelie has knitted 61 rows of a scarf. Each
day she adds 17 more rows. How many rows total has
Zelle knitted on day 167




Algebra 1 Formative Assessment — Sections 4-3 and 4-4 { points)

Name: Pate:

Block:

| 1) The table Shows the number of bikes made by a
~company for certain years. Find the rate of change for
| each time period. During which time period did the
number of bikes increase at the fastest rate?
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3} Find the siope of the line. Then tell what the slope
represents.
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2) Find the slope of each line,

4) Find the slope of the fine described by x + 2y = 8.
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_ Algebra 1 Formative Assessment — Section 4-3 { points)
" Name: Date:

Block:

1) The table shows the number of bikes made by a
company for certain years. Find the rate of change for
each time period. During which time period did the
number of bikes increase at the fastest rate?
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3) Find the slope of the line. Then tell what the slope
represents.
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2) Find the slope of each line.
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4) Find the slope of the line described by x + 2y = 8.
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Algebra 1 Formative Assessment — Section 4-6 ( points)

Name:

Date:

Block:

1) Write the eguation that describes each line in the slope-intercept form.

a) slope = 3, y-intercept = —2
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siope =§, {2, 7} is on the line
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¢} (0, 4) and (-7, 2) are on the line
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2} Write each equation in siope-intercept form. Then graph the line described by the equation.
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Algebra 1 Formative Assessment — Section 4-6 { points)

Name:

Date:

Block:

1} Write the equation that describes each line in the slope-intercept form.

a) slope = 3, y-intercept = -2

siope = g, (2, 7) s on the line

¢) (0, 4) and {~7, 2) are on the line

2) Write each equation in slope-intercept form. Then graph the line described by the equation.

a)bx+2y=10

blx—y=86
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Algebra 1 Formative Assessment — Section 4-8 { points)

Name: ‘éﬁjﬁ

Date:

Block:

1) The table shows time spent on homework and
number of incorrect quiz answers for several students.
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2) Find the eguation for the line of best fit. Interpret
the meaning of the slope and y-intercept,
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3} Use your equation to predict the number of
incorrect answers for 5 hours of study.
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4} Identify the correlation coefficient. How well does
the line of best f“t represent the data? Explain.
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Algebra 1 Formative Assessment ~ Section 4-8 ( points)

Name:

Daie:

Block:

1) The table shows time spent on homework and
number of incorrect guiz answers for several students.
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Create a scatier plot for the data.

2) Find the equation for the line of best fit. interpret
the meaning of the slope and y-intercept.

3} Use your equation to predict the number of
incorrect answers for 5 hours of study.

4) identify the correlation coefficient. How well does
the line of best fit represent the data? Explain.




